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Short answer questions/problems

Use the attached financial statements and the following additional information for Rockwell International to answer questions 1 through 4

Additional Information on Rockwell International:

Footnote 15. SUPPLEMENTARY FINANCIAL STATEMENT INFORMATION

                                                                  2000    1999    1998

                                                                  ----    ----    ----

    Statement of cash flows information (in millions):

    Income taxes paid...........................................  $129    $111    $ 59

    Interest payments...........................................    74      85      55

    Statement of operations information (in millions):

    Research and development:

      Company-initiated.........................................   474     422     402

      Customer-funded...........................................   202     192     184

    Rental expense..............................................   112     106     104

1.  Assume you want to calculate Rockwell’s EVA for fiscal year 2000 using the Harnishfeger approach.  What would you enter for inventory when calculating capital?

2.  Assume again that you want to calculate Rockell’s EVA for fiscal year 2000 using the Harnishfeger approach.  What would you enter for cash taxes when calculating NOPAT?

3.  Calculate Rockwell’s current ratio for 2000.

4.  Calculate Rockwell’s inventory turnover for 2000.

5.  Assume you own a put on Reebok International stock which has an exercise price of $30.  What must be true in order for this put to be “in-the-money”?

6.  Assume you own a call on Home Depot.  The value of your call has just risen.  What could have caused this increase in value?

7.  You are considering selling a call on AOL Time Warner with an exercise price of $55 that expires 2 months from today.  The current stock price for AOL is $51.70 but you expect it to rise to $56 by the time the put expires.  If you were to value this call using the Black-Scholes Option pricing model, what would you enter for S0?

8.  Using the information from the attached page from the June 8th, Wall Street Journal determine whether put-call parity is violated for the options on Broadcom with an exercise price of 40 that expire in July.  Note that the return on a Treasury security maturing at the end of the 3rd week of June is 3.32%, at the end of the 3rd week of July is 3.44% and at the end of the 3rd week of August is 3.53%.  Note also that the July options expire 43 days after June 7th.

9.  If we view common stock as a call on the value of the firm, what is the exercise price on this call?

10.  Suppose you have formed a portfolio containing 2 risky assets and T-bills.  Demonstrate graphically how your optimal portfolio of the two risky assets will change if the expected return on one of your assets suddenly falls.
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Problems/Essays

1.  Your firm owns an option to buy a factory from a competitor for $1,500,000.  The option expires today so your boss has asked you to determine whether the option should be exercised or not.  In order to make this decision, you have collected the following information:

Your firm has determined that the factory would have to earn a minimum return of 12.5% per year compounded continuously.

If your firm buys the factory, it is expected to produce quarterly net cash flows of $215,000 beginning four months from today.  However, the cash flow that the factory produces 2 years and 1 month from today is expected to be 1.25% smaller than the previous quarter.  Thereafter, cash flows are expected to fall by 1.25% per quarter through the closing of the plant 4 years from today.

Should your firm exercise the option to buy this factory?

2.  Bust Buy Inc. has recently decided to examine its EVA for 2000 to determine whether the firm is really earning a profit.  As a part of their analysis, your boss has given you the following information:



Yield to maturity on:
Market Value of:

Date
Bust Buy’s debt
30-year Treasuries
Debt
Equity

12/30/2000
8.02%
5.49%
$5.0 million
$12.4 million


9/30/2000
8.35%
5.83%
$4.8 million
$11.2 million


12/30/1999
8.19%
6.35%
$4.7 million
$6.5 million


9/30/1999
8.20%
6.07%
$4.2 million
$5.5 million


12/30/1998
7.23%
5.06%
$4.0 million
$3.0 million

Bust Buy’s fiscal year ends on September 30 of each year.

The statutory corporate income tax rate for all years is 35%.

Bust Buy’s effective corporate income tax rate was 32% for fiscal year 1998, 16% for fiscal 1999, and 30% for fiscal 2000.  

Your boss also gave you the return on Bust Buy stock and the S&P500 for 4 recent past years:


Return on:  

Year
Bust Buy
S&P500
-1
2.6
-9.1

-2
97.9
21.0

-3
37.2
28.6

-4
16.7
33.4

a.  What is your estimate of Bust Buy’s beta based on these historical returns?

b.  Using this beta, what is your estimate of Bust Buy’s weighted average cost of capital?
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                          CONSOLIDATED BALANCE SHEET

                                 (in millions)

                                                                SEPTEMBER 30,

                                                              ------------------

                                                               2000       1999

                                                              -------    -------

                           ASSETS

CURRENT ASSETS

Cash (includes time deposits and certificates of deposit:

  2000, $33; 1999, $260)....................................  $   190    $   356

Receivables (less allowance for doubtful accounts: 2000,

  $48; 1999, $56)...........................................    1,250      1,294

Inventories.................................................    1,266      1,176

Deferred income taxes.......................................      276        364

Other current assets........................................      224        229

                                                              -------    -------

     Total current assets...................................    3,206      3,419

                                                              -------    -------

PROPERTY, NET...............................................    1,616      1,581

                                                              -------    -------

INTANGIBLE ASSETS, NET......................................    1,403      1,390

                                                              -------    -------

OTHER ASSETS................................................      165        154

                                                              -------    -------

     TOTAL..................................................  $ 6,390    $ 6,544

                                                              =======    =======

            LIABILITIES AND SHAREOWNERS' EQUITY

CURRENT LIABILITIES

Short-term debt.............................................  $    16    $   189

Accounts payable............................................      806        843

Compensation and benefits...................................      389        469

Income taxes payable........................................      121         91

Other current liabilities...................................      488        516

                                                              -------    -------

     Total current liabilities..............................    1,820      2,108

                                                              -------    -------

LONG-TERM DEBT..............................................      924        911

                                                              -------    -------

RETIREMENT BENEFITS.........................................      620        653

                                                              -------    -------

OTHER LIABILITIES...........................................      357        332

                                                              -------    -------

SHAREOWNERS' EQUITY

Common stock (shares issued: 216.4).........................      216        216

Additional paid-in capital..................................      967        960

Retained earnings...........................................    3,363      2,937

Accumulated other comprehensive loss........................     (166)      (153)

Restricted stock compensation...............................       (2)        --

Common stock in treasury, at cost (shares held: 2000, 32.9;

  1999, 25.5)...............................................   (1,709)    (1,420)

                                                              -------    -------

     Total shareowners' equity..............................    2,669      2,540

                                                              -------    -------

     TOTAL..................................................  $ 6,390    $ 6,544

                                                              =======    =======
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                      CONSOLIDATED STATEMENT OF OPERATIONS

                    (IN MILLIONS, EXCEPT PER SHARE AMOUNTS)

                                                               YEAR ENDED SEPTEMBER 30,

                                                              --------------------------

                                                               2000      1999      1998

                                                              ------    ------    ------

REVENUES:

Sales.......................................................  $7,151    $7,043    $6,752

Other income, net...........................................      69       112        88

                                                              ------    ------    ------

Total revenues..............................................   7,220     7,155     6,840

                                                              ------    ------    ------

COSTS AND EXPENSES:

Cost of sales (Note 19).....................................   4,916     4,915     5,205

Selling, general and administrative (Note 19)...............   1,288     1,270     1,448

Purchased research and development (Note 2).................      --        --       103

Interest....................................................      73        84        58

                                                              ------    ------    ------

Total costs and expenses....................................   6,277     6,269     6,814

                                                              ------    ------    ------

Income from continuing operations before income taxes and

  accounting change.........................................     943       886        26

Income tax provision........................................     307       307       134

                                                              ------    ------    ------

INCOME (LOSS) FROM CONTINUING OPERATIONS BEFORE ACCOUNTING

  CHANGE....................................................     636       579      (108)

Loss from discontinued operations...........................      --       (20)     (301)

Cumulative effect of accounting change......................      --        --       (17)

                                                              ------    ------    ------

NET INCOME (LOSS)...........................................  $  636    $  559    $ (426)

                                                              ======    ======    ======
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Short answer questions/problems
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5.  Price < 30

6.  Increase Home Depot's price, increase standard deviation of returns on Home Depot stock, increase in risk-free rate

7.  51.70

8.  
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9.  Matuirty value of debt

10.  Description of graph:  one asset remains stable, the other moves down (vertical shift), the new curve should generally be lower than the old curve and the new line should be tangent to the new curve and should be lower than the original line.

Problems/Essays
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=> exercise option since value > exercise price of 1,500,000

2.  
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r = 6.07 + .73385(6) = 10.473


[image: image13.wmf](

)

(

)

246

.

8

35

.

1

2

.

8

7

.

9

2

.

4

473

.

10

7

.

9

5

.

5

WACC

=

-

÷

ø

ö

ç

è

æ

+

÷

ø

ö

ç

è

æ

=


_1054102616.unknown

_1054108970.unknown

_1054109118.unknown

_1054109384.unknown

_1054109436.unknown

_1054109257.unknown

_1054109075.unknown

_1054108792.unknown

_1054108806.unknown

_1054102669.unknown

_1054102209.unknown

_1054102352.unknown

_1054102179.unknown

